
§·¤æ§ü / Unit-I

1. çÙ`ÙçÜç¹Ì ·¤ô ©UÎæãUÚU‡æ âçãUÌ â×Ûææ§° Ñ

(a) ‹ØêÙÌ× âð ¥çÏ·¤Ì× ·¤âõÅUè

(b) ¥çÏ·¤Ì× âð ¥çÏ·¤Ì× ·¤âõÅUè

(c) ¥çÏ·¤Ì× âð ‹ØêÙÌ× ·¤âõÅUè

Explain the following with illustration :
(a) Maximin criterion
(b) Maximax criterion
(c) Minimax criterion
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ÙôÅU Ñ âÖè ÂýàÙæð ´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð ´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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çÙ`ÙçÜç¹Ì ÂýæçŒÌ ÌæçÜ·¤æ ÂÚU çß¿æÚU ·¤èçÁ° Ñ

çß·¤ËÂ

ƒæÅUÙæ A1 A2 A3

Q1 25 16 12

Q2 15 20 12

Q3 –10 00 08

çÙ`ÙçÜç¹Ì ·¤æ ÂýØô» ·¤ÚUÌð ãéU° âãUè çß·¤ËÂ
¿éçÙ° Ñ

(i) ãUÚUçßÅ÷UÊæ ·¤âõÅUè, ØçÎ ¥æàææßæÎè »é‡ææ¢·¤ ®.wz
ãñUÐ

(ii) ÜæŒÜæâ ·¤âõÅUèÐ

Consider the following Payoff table :

Alternatives

Event A1 A2 A3

Q1 25 16 12

Q2 15 20 12

Q3 –10 00 08

Find the best alternatives using the following :
(i) Hurwitz criterion, if coefficient of

optimism is 0.25.
(ii) Laplace criterion.
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§·¤æ§ü / Unit-II

2. ÂçÚU·¤ËÂÙæ ÂÚUèÿæ‡æ âð ¥æÂ @Øæ â×ÛæÌð ãñ´U?

ÂçÚU·¤ËÂÙæ ÂÚUèÿæ‡æ ·¤è Âýç·ý¤Øæ ·¤ô â×Ûææ§°Ð

What do you mean by Testing of Hypothesis ?
Explain the procedure of Testing of
Hypothesis.

¥Íßæ / OR

×ãUæÚUæcÅþU âð çÜ° »° z®® ÃØç@ÌØô´ ·ð¤ ÂýçÌÎàæü ×ð´

âð w®® ÃØç@Ì ÙæçÚUØÜ ÌðÜ ·ð¤ ©UÂÖô@Ìæ ÍðÐ

»éÁÚUæÌ âð çÜ° »° y®® ÃØç@ÌØô´ ·ð¤ ¥‹Ø ÂýçÌÎàæü

×ð´ âð w®® ÃØç@Ì ÙæçÚUØÜ ÌðÜ ·ð¤ ©UÂÖô@Ìæ ÍðÐ

@Øæ ¥æ¡·¤Ç¸ðU ×ãUæÚUæcÅþU ¥õÚU »éÁÚUæÌ ·ð¤ ×ŠØ ÙæçÚUØÜ

ÌðÜ ©UÂÖô@Ìæ¥ô´ ·ð¤ ¥ÙéÂæÌ ×ð´ âæÍü·¤ ¥‹ÌÚU Âý·¤ÅU

·¤ÚUÌð ãñ´ U?

In a random sample of 500 persons from
Maharashtra 200 are found to be consumers
of Coconut oil. In another sample of 400
persons from Gujarat, 200 persons found to
be consumers of Coconut oil. Whether the
data reveal a significant difference between
Maharashtra and Gujarat so far as the
proportion of Coconut oil consumers is
concerned ?
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§·¤æ§ü / Unit-III

3. çÙ`ÙçÜç¹Ì ÌæçÜ·¤æ âæÿæÚUô´ ¥õÚU ¥ÂÚUæçÏØô´ ·¤è
â¢BØæ ÂýÎæÙ ·¤ÚUÌè ãñU Áô ÌèÙ àæãUÚUô´ âð â`Õç‹ÏÌ
ãñU Ñ

·¤æÙÂéÚU §ÜæãUæÕæÎ ¥æ»ÚUæ

·é¤Ü â¢BØæ (ãUÁæÚU ×ð´) wyy v}y wx®

âæÿæÚU (ãUÁæÚU ×ð´) y® y| xx

âæÿæÚU ¥ÂÚUæÏè (âñ·¤Ç¸Uô´ ×ð´) x w w

çÙÚUÿæÚU ¥ÂÚUæÏè (âñ·¤Ç¸Uô´ ×ð´) y® w® wy

¥ÂÚUæÏ ¥õÚU çÙÚUÿæÚUÌæ ·ð¤ Õè¿ »é‡æâ`Õ‹Ï ×ð´ ¥‹ÌÚU
ÂýˆØð·¤ àæãUÚU ·ð¤ çÜ° ™ææÌ ·¤èçÁ°Ð

The following table gives the number of
literates and criminals in each of three towns :

Kanpur Allahabad Agra

Total Number (in ’000) 244 184 230

Literates (in ’000) 40 47 33

Literate Criminals (in ’00) 3 2 2

Illiterate Criminals (in ’00) 40 20 24

Compare the degree of association between
criminality and illiteracy in each of the above
three towns.
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w®®® çÂÌæ¥ô´ ·ð¤ °·¤ â×êãU ·¤æ ¥ŠØØÙ ç·¤Øæ

»Øæ ¥õÚU ØãU ÂæØæ »Øæ ç·¤ vw.~' ·¤è ¥æ¡¹ð

»ãUÚðU Ú¢U» ·¤è Íè´Ð §Ù×ð´ âð, °ðâð çÂÌæ çÁÙ·ð¤

Âé˜æô´ ·¤è ¥æ¡¹ð´ »ãUÚðU Ú¢U» ·¤è Íè´ ¥õÚU °ðâð çÂÌæ

çÁÙ·ð¤ Âé˜æô´ ·¤è ¥æ¡¹ð´ ãUË·ð¤ Ú¢U» ·¤è Íè´, ·ð¤

×ŠØ v Ñ v.z} ·¤æ ¥ÙéÂæÌ ÍæÐ °ðâð ×æ×Üð,

ÁÕ çÂÌæ ¥õÚU Âé˜æ ÎôÙô´ ·¤è ¥æ¡¹ð ãUË·ð¤ Ú¢U»

·¤è Íè´, vz{y ÍðÐ çÂÌæ ¥õÚU Âé˜æ ·¤è »ãUÚðU Ú¢U»

·¤è ¥æ¡¹ô´ ·ð¤ ×ŠØ »é‡æâ¢Õ‹Ï ™ææÌ ·¤èçÁ°Ð

A group of 2000 fathers was studied and it
was found that 12.9% of them had dark
eyes. Among them, the ratio of those having
sons with dark eyes to those having sons
with light eyes was 1 : 1.58. The number of
cases where fathers and sons both had light
eyes was 1564. Calculate co-efficient of
association between darkness of eye colour
in fathers and sons.

§·¤æ§ü / Unit-IV

4. âæ¢çBØ·¤èØ »é‡æ-çÙØ¢˜æ‡æ âð ¥æÂ @Øæ â×ÛæÌð

ãñ´ U? ©Ulô»ô´ ×ð´ §â·¤è ¥æßàØ·¤Ìæ ¥õÚU ©UÂØôç»Ìæ

·¤è çßßð¿Ùæ ·¤èçÁ°Ð
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What do you understand by Statistical Quality
Control ? Discuss its need and utility in
industries.

¥Íßæ / OR

¥æÂ·¤ô v® ÂýçÌÎàæôZ, çÁâ×ð´ ÂýˆØð·¤ ·¤æ ×æÂ z ãñU,

·ð¤ ‹ØæÎàæü ×æŠØ ( X ) °ß¢ çßSÌæÚU (R) ·ð¤ ×æÙ

çÎ° »° ãñ´UÐ ¥æÂ ×æŠØ ( X ) ¿æÅüU ÕÙæ§° ¥õÚU
çÙØ¢˜æ‡æ Âýç·ý¤Øæ ÂÚU çÅUŒÂ‡æè ·¤èçÁ°Ð

ÂýçÌÎàæü â¢BØæ ×æŠØ ( X ) çßSÌæÚU (R)

v yx z

w y~ {

x x| z

y yy |

z yz |

{ x| y

| zv }

} y{ {

~ yx y

v® y| {

¥æÂ §Ù çÙØ¢˜æ‡æ ¿æÅüU ¥¿ÚU ×æÙô´ ·¤æ ÂýØô» ·¤ÚU
â·¤Ìð ãñ´U Ñ n = 5, A2 = 0.58.
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You are given the sample mean ( X ) and
range (R) for 10 samples of size 5 each. Draw
mean ( X ) chart and comment on the state of
control of the process.

Sample No. Mean ( X ) Range (R)

1 43 5
2 49 6
3 37 5
4 44 7
5 45 7
6 37 4
7 51 8
8 46 6
9 43 4
10 47 6

You may use the following control chart
constant :
for n = 5, A2 = 0.58.

§·¤æ§ü / Unit-V

5. çÙ`ÙçÜç¹Ì âæÚU‡æè çßçÖ‹Ù ßáôZ ·ð¤ ©UˆÂæÎÙ âð
â`Õç‹ÏÌ ãñUÐ ¥æÂ ßáü v~}z °ß¢ v~~z ·ð¤ çÜ°
©UˆÂæÎÙ ·¤æ ¥Ùé×æÙ Ü»æ§° Ñ

ßáü v~|® v~|z v~}® v~~®

©UˆÂæÎÙ (ãUÁæÚU ÅUÙ) v®® vv® vx® v|{
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The following series gives the production for
various years. Estimate the production for the
year 1985 and 1995 :

Year 1970 1975 1980 1990

Production (’000 Ton) 100 110 130 176

¥Íßæ / OR

Üæ»ýð ´Á çßçÏ ·¤æ ÂýØô» ·¤ÚUÌð ãéU° xz ßáü ·¤è ¥æØé
·ð¤ ÃØç@ÌØô´ ·¤è â¢BØæ ·¤æ ¥Ùé×æÙ Ü»æ§° Ñ

¥æØé wz x® y® z®

ÃØç@ÌØô´ ·¤è â¢BØæ zw® {|x }yv ~yy

Estimate the number of persons of age 35
years by using Lagrange’s formula :

Age 25 30 40 50

No. of Persons 520 673 841 944

———
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